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I. Put the following phrases into Chinese (9% )

1. EEC 2. visible trade account 3. bamboo curtain
4. SEZ 5. gross national product 6. punitive import tariff
7. gross domestic product . the G-7 9. trade agreement

I. Translate the following phrases into English (15% )

1. %4l 2. REEMFA 3. Bt
4. HERAN 5. TAk#EM 6. ®5 M
7. R XA 8. IEFHFEE 9. SEHMEAR
10. ETk

K. Choose one answer that best explains the underlined part or what is re-
quired in the following statement {21% )

1. Economic problems were exacerbated by three bad harvests (1959 - 1961) with the result
that the national income and volume of foreign trade contracted during 1960 — 1962.

A . worsened B. improved
C. corrected D. damaged
2. The growth of foreign trade was disrupted again during the Cultural Revolution.
A. cut down B. break
C. broken D. continued

3. The four special economic zones in Guangdong and Fujian provinces, 14 coastal cities (all
former treaty ports) and Hainan Island have specifically designed tax and other incentives
for the foreign investor.

A . encouraging B. limits
C. restraints ‘ D. preferential policies

4. The foundation for all this was assembled in piecemeal form, beginning in mid - 1979

with the State Council’ s decision to set up four SEZs in the south.
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10.

11.

12.

A. in the running B. in power

C. piece by piece D. out of power

. China’ s emergence as an economic heavyweight after more than a decade of fast growth

makes it likely to supplant Japan as the West’s main trade worry in Asia.
A. replace B. correct

C. award D. establish

. Along its two dusty lanes, local trucks and buses jockey with Cadillacs driven by fi-

nanciers from Taiwan and Hong Kong investors, and migrant workers crowd the narrow
shoulders.

A. the edges of a road

B. either of that flat bones of the upper back, behind and below the neck

C. spade - like tools, used for moving coal, sand, snow, etc.

D. conditions of not having enough

. In 1991, for the second year in a row, the economies of low - income and middle - in-

come countries virtually stagnated, as measured by an increase in per capita gross domes-

tic product .
A. in succession B. in favor of
C. in the event D. flat out

. Aggregate output for developing countries advanced by slightly less than 2 per cent during

1991 (similar to the weak performance of 1990) , implying an easing in per capita income
of 0.1 per cent. _
A. total B. reshape

C. maximize D. induce

. The Clinton administration is drawing the first lines of a tougher U.S. policy on trade,

signaling to European and Japan that it will demand fairer treatment for American exports.

A. asking for B. requiring
C. informing by signals D. acknowledging
The Clinton administration is prepared to see relationship with U.S. trading partners get
worse before they get better.
A. is ready mentally and able to B. is likely to
C. tend to D. is expected to
They moved quickly to cite the 12-nation European Community for “intolerable” diserim-
ination against U.S. companies seeking contracts within the Community .
A . misgivings B. slump
C. breakthrough D. treating differently

Estimates of GDP growth by major geographic region show an acceleration in Latin Amer-

ica and in sub-Saharan Africa; an increase in China’s growth rate helped to sustain high



rates of growth in the East Asia.
A. deserve B. cover
C. coordinate D. maintain

13. Eventually industry gives way to ricefields, which is being dug up to build still more fac-

tories .
A. makes room for something B. gives access to
C. gives in to D. gives up
14. The following year, a tax law for joint ventures was promulgated.
A. revealed B. announced officially
C. made known D. canceled

IV. Read the following passages and answer the questions in English (24% )
1

As its name implies, the World Bank was formed to provide sound long-term loans for recon-
struction and development. The International Monetary Fund is concerned, as we shall see short-

ly, with short-term credit and the cooperative management of foreign exchange rates.

The World Bank is easy to understand . The leading nations subscribe toward its capital stock

in proportion to their economic importance. The Bank can use its capital to make international
loans to people or countries whose projects seem economically sound but who cannot get private
loans at reasonably low interest rates.

The World Bank’s true importance arises from something greater than the loans it can make
out of its own capital. More important is the fact that it can float bonds and use the proceeds to
make loans. The bonds are safe because they are backed by the credit of all the nations. Also,
the Bank can insure loans in return for a small premium; private parities can then put up the
money, knowing the Bank’s credit is squarely behind the loan.

As a result of such long-term credits, we have seen goods and services flowing out of the ad-
vanced nations aimed at international development. If sound, these loans will be repaid in full. If
some go sour, the loss will be paid out of the Bank’s interest of premium eamings. If still more

go sour, the loss will be spread over all the member nations.

Questions:

(1) What do you know about the function of the World Bank?
(2) What are the sources of the World Bank s capital stock for long-term loans?
(3) What’s the result of the World Bank’s long-term loans?

2

Has the Bank been a financial success? Decidedly. Especially after Robert McNamara ( for-
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merly of Ford Motor and Pentagon) became its head in the late 1960s, the Bank has stepped up
the scale of its}\ activities sharply. An increasing proportion of its financing now goes through the
International Development Agency, set up by the Bank to make “soft loans” to nations for educa-
tion, roads, hospitals, etc.; and through its International Finance Corporation, established to
make loans to foreign development banks for financing private investment projects.

For the 1980s, McNamara has shifted the Bank’s focus toward a concern for the very poorest
in the developing countries. The best private commercial banks, by their nature, cannot have
such a concem for human hunger and disease, for minimum life standards and the mitigation of

inequality of opportunity and position .

Questions:
(1) Who is McNamara?
(2) What did he do during his stay in the World Bank?
(3) Why does the World Bank set up the Intemational Development Agency?

V. Read the following two passages and decide whether the statements are true
or false. Mark T for truth and F for false in the brackets given (15% )

1

International trade develops because certain countries are able to produce some goods more
efficiently than other countries. They exchange goods to satisfy their needs and wants. Efficient
production may be the result of several factors. A certain climate in a particular country may allow
that country to grow agricultural products in large quantities. For instance, the climates in the U-
nited States and Canada are suitable for production of large amounts of wheat. Natural resources
such as oil or coal are rich in other countries. Countries with a large pool of unskilled laborers are
able to produce products which are labor intensive more cheaply than countries with highly paid,
skilled labor forces. Another factor is geographical location. Countries like Singapore and Panama

deal in banking and trading because they are located on world trade routes.

Statements :

(1) Such factors as climate, location, natural resources, labor force, which are mentioned
in the passage, influence efficient production. [ ]

(2) Singapore deals in banking and trading because it has a good climate and more natural
resources . | ]

(3) Countries with a large number of unskilled laborers are able to produce products that are
labor intensive more expensively than countries with highly paid, skilled labor forces. [ ]

(4) Geographical location has nothing to do with efficient production. [ i

(5) Panama has natural resources, and is suitable for mass — production of wheat. [ ]



2

The Scottish economist, Adam Smith, believed that in a free market country produce what-
ever they can most efficiently grow or manufacture. In other words, if they can make more money
growing cotton than making cloth, they grow cotton and export it. Then they import cloth from a
country that makes cloth more efficiently than it grows cotton. In an uncontrolled free market trade
situation, there is intemational division of labor which results in the most efficient production of
goods. Therefore, competition guarantees that country import products which are most efficiently
manufactured abroad and export products which are most efficiently produced at home. Price is
determined by the supply side of market. Smith’s theory was a theory of absolute advantage. He
believed that an exporting country doesn’t have to be the most efficient producer of the product,
it only has to be more efficient than the country which imporis the product. Mutual beneficial
trade arises when one country has a comparative advantage.

There are some several reasons why governments try to control the imports and exports of a
country. One reason is that a country enjoys an advantage if it exports more than it imports.
Wealth goes up in the exporting country. Some countries have special programs to encourage ex-
ports. They may be programs that provide marketing information, subsidize exports, and provide
tax benefits or favorable terms. Government subsidies allow companies to sell products cheaply in
foreign countries. On the other hand, governments improve taxes to limit imports of certain prod-
ucts. Sometimes governments want to protect a domestic industry because the industry provides

employment for the population.

Statements :

(1) Adam Smith’s theory is the one of the comparative advantage. [ ]

(2) The definition of “the comparative advantage” is that the exporting country should be
more efficient than the country that imports the product. [ ]

(3) David Richard thought that an exporting country doesn’t have to be the most efficient of
the producers in the world. [ ]

(4) To encourage exports, some countries make an effort to provide marketing information
and tax benefits and to subsidize export. { ]

(5) Governments sometimes want to limit imports because they don’t like products from
abroad. [ ]

V. Put the following passage into Chinese

In terms of export policy environments in 1998, the reform of China’s foreign trade mecha-
nism required by the socialism market economy will progress with new changes in the administra-
tive functions of the government and service functions of nongovernmental market coordination or-

gans, including foreign trade intermediate organs, industry associations and chambers of com-

BN EEHEH OE MR 2 ' =



BB AN S ‘ %

merce, thus enhancing reform and coordinating the development of management, operations and
services. Related laws and regulations conceming exports will be improved. More productive en-
terprises will enjoy foreign trade autonomy. Policies that encourage active, rational and effective
use of foreign investment will guide foreign - funded enterprises to make full use of their export
superiority to expand exports. Under this circumstances, pluralistic competition patterns and vari-
ous foreign trade bodies will develop, bringing about more new growth points. Also, industrial
policies set to optimize industry structure will be strengthened and further implemented. By means
of support and preferential policies, the State will encourage the development of backbone indus-
tries that display strong competitiveness in international markets, hi-tech industries and capital-

intensive industries.
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I.Put the following phrases into Chinese

1. EEC Bk34k

B KAW 2 U 3t 44 (European Economic Community) H {8 #R, X 42 “BK ¥ 3t [F] {4
T %" (European Common Market) , 2 PiBKE K T 1958 4FE B I — 2 FFBCHR , BRI 3¢
[ 44 (European Community, BLE{#K European Union) ) B #5r. AERAE N ER . &
KA EE CFIE 2 SRR R VBRE KE A AT AT R 5
#FZHI15E,

2. visible trade account A % T Hik X

®E RERKIXSEHPZETETHNEEEZENFE, WRBEMNERE 4T+
BEEMNTH., BRUEHESDMARTERE, BE4SRi#EOME ORI ER,

3. bamboo curtain 44 ¥

ME FoRMAKRRE ABHEEHE MAYL“EEEZK (iron curtain coun-
)RR R B A EMAAKE S EXER, B XL EZ AHEIEAE AR #TRX
W, ERRBEAEREANXRRE, RETER. EXUTHEEETE, ABRHER.

4. SEZ ZHHK

% 2FKH The Special Economic Zone, Hir LB aASX BHE. HO
MITK. QSR J38EX % LR & B SN2 5 7GR B BOR i 3 X 5285
ZHEX, RENLFEEAFAFAHRSEME OMTXNENGSHERER, X
BAFHEXA, PEENS FRES AN, LA E ASEE Y HRKRAML
o

5. gross national product B K &£ * ¥4

BE SHEXNONP, H— I ERNERA TN, 7ERNMESET LM
HEBRATERMGTFHER,

6. punitive import tariff 75 3 M3t o X AL

ME & TH#ORSAS S HRER @R E %835 AE B T KBS
FUBLIR , 10 - % 35 78 I 0 0 10 7 4 ¢ LA R AR B B A BL ™, 5 RIS R M A BE 2%
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7. gross domestic product & M £ = &4

BRE —EHEXARENBHNGEEI—F)FEENRE 5% SFHEaTHM
1 % B S A R4 BI h % E 8 GDP,

8.the G-7 LtHAH

MR 2R the Group of Seven, #HEHE . HA HH . LH . EEH . EXFAMmE X
EANMTHEH, XEER, XEIMEREFEAERIW, REFREFAGERRERZ
o] 8 R 5 TR o

9. trade agreement % % X

BE ZADFRHLME EEH X M EER ZSHEE R % Ly i ) B
;0] 30
1. Translate the following phrases into English -

1. &% 43 joint venture

WME EEFRESP EFEXFEU ENRREE - EENREFERCRE
M) g, LR RS ARG B A, SRR SRR EERE R TR, X2
—F BRUEBS B A 7 AR AT T U E B R

2. & E44&® most-favored nation treatment (status)

RE BREESBRKERRRESAAT GHENFEER ME B ARE
BB FEHEL THORETRALRERE TFAME=ZEHRE IR oFE .
BEXRLHENREN, SEEFBRGHEZEAS B RWEL, RBARHAEZE
REXRNER. REBHEANATREARG, BERFBTUS A TRHE"FH
KB TR, AU ERESBHMEASE BEERNAFTERBEEFBLAR. B
U, X B R 8 AR R B

3. %X #i&% infrastructure

BB BIS infra-, TR T MEHER, I infrasound 5 # , infrared £L 5P (FEFEN
HEF) B T4 AR AT G BB K 0 YK BB AR B A0SR ) 5 structure 5 37, R
TR BB, FEVLAL T 1 HE ; T infrastructure 38 H R FERE B .

4. 2 E %45 the grassroots unit |

BE grass L7, BEREMNER oot B, ZAR BEMNEE , unit Z7,38H
%, BT L, grass fill roots A0 unit MEEE R EL,

5. 27 industrial sector

BB sector 1§ TV EIERT, B I FFE K branch, 40 the public and private sec-
tors of industry & EA Tk MFAE Tk .

6. AHME trade surplus

B  surplus FEA AR FA, H140 :surplus labor e R 49730 )1 ,a sale of surplus stock
| R B, surplus store TE R RV R JE -

7. 2% X % H the economic and trade delegation

fRTE  delegation 1 IR RBBIRMANRK ., HIHiHR delegateo



8. EHF K portfolio investment
RE BXREMGEGESRN EBERR) ATTREFA B RAFBBRETHN
9. £i# P AR advanced technology
fRRE  advanced $55EHE Y, BB R X i) & underdeveloped, % J& B3 R B & underde-
veloped technology.
10. £k heavy industry
WRE H5ETUHEMKEZERIW light industry.
I[. Choose one answer that best explains the underlined part or what is re-
quired in the following statement
1. A. MRE  exacerbate 30id , R MME FHEAKEE, W:An anticipated bad
harvest will exacerbate social tensions. T4} A) SR W B I B AE 2 R KTE %o
B 2FEE X BT SEPERIKR(1959 F ~ 1961 F) T — P Bk 5R 1960
45 1962 FE S 4EH, FPRNERBKA SR 5B .
A. worsened JIE &AL B. improved X &
C. comrected BIE v D. damaged #HIF
2.C. WE  disrupt 337, IE WA WA B . 40 :The war disrupted the econo-
my. WAL T L5 Traffic was disrupted by floods . %38 B Bt K T & B o
3 P E RS SR SO K E A E K R
A. cut down B4 B. break FTH
C. broken M D. continued #4k%E
3.D. MBRE incentive & 17, TERIB . FLFih. UN:the government’ s tax incentive for
industry to move into depressed area BORF B Tl 3T A R X B B
EY RS EEES N NARTER, 14 AT EORT (98 AR S B BURF K
2 B FFHCHSRT ) RO I, ERA A B VT 5 R o B M B L b B R £ B I
Ho ,
A. encouraging X[l B. limits PRl
C. restraints [ il D. preferential policies BB
4.C. ME piecemeal WEH A, RRENH EHK . M:a piecemeal compli-
ance with the law S EERZE S MENT B, piecemeal tLAT{FRIA , B — A — 1 B
3, , 40 : Airports were set up piecemeal. M —A— AP EEREE, EHAL, piecemed ZIEA
1846 i 4 1) form,
Fr A X B A TS X ) R PR R RS A 1, RAE S B IE 1979 P
HMEEE BRI O EFRRBRETHN .
A. in the running S% BTk B. in power AL B
C. piece by piece —H—HFH D. out of power RS
5. A. f&F supplant Bid], $e % BUX, 40 :The Prime Minister was supplanted by
his rival . B ¥ B X F AT EHES

p—
—
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B 43t EENRELRRE, PR-KBRA - M EERENETERE, XEER
ARBRAEATRAIEF BEREEMBX A S ERLR

A. replace RF B. correct MIE.#IE

C.awad ®|&TF .7 D. establish 7 .817p

6. A. B shoulder &7, A XEH BEEHER, W shrug one’s shoulders B2
J& ,with a rifle on one’ s shoulder JH FIL &M, jockey 31, i B R /F A KER,
4 :jockey a truck into position WEERFEFTNEYMAE, AL, shoulder FEAIRBEH,
B (AT E WM ) B 2EFE

B EXE T KN EEL, YN RE AXESBEREENEME T
BRI AR AT, AR IT LEEREN RS AT E BB AM

A. the edges of a road B&/H

B. either of that flat bones of the upper back, behind and below the neck ARE

C. spade-like tools, used for moving coal, sand, snow, etc.

B 8 CRAUSHR U SENTR

D. conditions of not having enough & .BRZ

7.A. BB inarow, FRB—KH;ESEH . 40 :three houses in a row R—HEH
3 i# B F ; Two days in a row he has not been here. ST RERBERX o

11991 4F, LA M E oA = B (GDP) B K R B, IR B K2 BF 0
AT — S —#, PR B4 TERRS

A. in succession i ZEHb
. in favor of PLeeesss yg[lj[g’]i‘j(;j‘...ﬁ*“
. in the event J1— :
. flat out SEAHI

8. A. MB¥E  aggregate W FIMESNIA, KR BIHIAE] . 40 :The audience aggregated a
million people. TAX E$0E 100 7 Ao aggregate EHARBER, BRBEEH EHH,
1l : the aggregate sales & 448 %l ; the aggregate number of unemployed 9”;1[1/_,%\ A

E: 1991 4E (55 1990 E M AR SREAHEL) , KB hEEH BB KRR
F2%, XBREHABHBARKT 0.1%.

o O

A. wtal SH B. reshape HMEER .BE

C. maximize HMEHRK D. induce 3% R .5IE

9.C. BB signal: B, RRE - KIES . LUIMESEA . W0 signal a message
e 5 REHE

B30 . PRI IF 75 AR 2 — 4 T A0 05 K 3 [ 5 OO, X T BRH AN B A R AR
B.pRIERLO=RERELATFHRFE,

A. asking for B B. requiring E3X

C. informing by signals & i & & D. acknowledging 7&Kk

10. A. f&¥ be prepared to do something 7 M % K9 ERFH (BEEREHL



